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QUESTION 1

Given:

public class Tester {
public static void main(String[] args) {
int x = 4;
int y = 2;
System.out.println (x+y+"=(x+y)="+x+y);

What is the result?

A. An exception is thrown at runtime.
B. 42=(x+y)=42

C. 42=(x+Yy)=6

D. 6=(x+y)=42

E. 6=(x+y)=6

Correct Answer: D

= ”®
Console 5

b=(x+y)=42

ICompleted with exit code: 0

QUESTION 2

Given: Which code, when inserted at one or more marked positions, would allow classes B and C to compile?
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public interface A {
abstract wvoid x():

and

public abstract class B /* position 1 */ ({
/* position 2 */
public wvoid x() { }
public abstract void z():

and

public class C extends B implements A {
/* position 3 */

}
A. @Override // position 3 void x () {} // position 3 @Override // position 3 public void z() { } // position 3 // position 2
B. @Override public void z() { } // position 3
C. implements A // position 1 @OQverride // position 2
D. public void z() { } // position 3

Correct Answer: B

QUESTION 3
Given: What is the result?

string[][] arr = {
{"Red", "White"},
{"Black"},
{"Blue", "Yellow","Green","Vioclet"}
}i
for(int row = 0; row < arr.length; row++) {
int column = 0;
for(; column < arr[row].length; column++) {
System.out.println("[" + row + "," + column + "] = " + arr[row] [column]);
}

A. [0,0] = Red [0,1] = White [1,0] = Black [1,1] = Blue [2,0] = Yellow [2,1] = Green [3,0] = Violet
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B. [0,0] = Red [1,0] = Black [2,0] = Blue
C. java.lang.ArraylndexOutOfBoundsException thrown
D. [0,0] = Red [0,1] = White [1,0] = Black [2,0] = Blue [2,1] = Yellow [2,2] = Green [2,3] = Violet

Correct Answer: D

Console 1 Console 2 % Console 3 x

[0,0] =Red

[0,1) =White
[1,0] =Black
[2,0] =Blue

[2,1]) =Yellow
[2,2] =Creen
[2,3]) =Violet

ompleted with exit code: 0

QUESTION 4

Given:

public class Test ({
private int sum;
public int compute() {
int x = 0;
while(x < 3) {
sum += X++;
}
return sum;
}
public static void main(String[] args) {
Test t = new Test():;
int sum = t.compute():
sum = t.compute();
t.compute () ;
System.out.println(sum);
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What is the result?

A9

B. An exception is thrown at runtime.
C.3

D.6

Correct Answer: D

Console 1 » Console 2 % Console 3
[

Completed with exit code: 0

QUESTION 5

Given:

public interface A {
public Iterable a():

}

public interface B extends A {
public Collection af();

}
public interface C extends A {
public Path a():

}
public interface D extends B, C {

}

Why does D cause a compilation error?

A. D inherits a() only from C.

B. D inherits a() from B and C but the return types are incompatible.
C. D extends more than one interface.

D. D does not define any method.
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Correct Answer: D
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